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DIPLOMA IN EARLY CHILDHOOD 
CARE AND EDUCATION 

Term-End Examination 

June, 2012 

DECE-2 : CHILD HEALTH AND 
NUTRITION 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question 1 is compulsory. 

Answer any other four questions. 

	

1. 	Explain any five of the following in 250 words 
4 each : 	 x5=20  

(a) Concept of health 

(5) Balanced diet 

(c) Types of nutrients with two food sources of 

each 

(d) Recommended Dietary Intakes 

(e) Need for supplementary nutrition 

programmes. 

(f) Health care during pre-natal period 

(g) Signs and symptoms of severe illness in the 

child. 

	

2. 	(a) Suggest a day's feeding schedule for a one 	8 
year old child stating what the child will 

eat at different times during the day ? 
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(b) Explain the rationale behind your feeding 
schedule by focusing on : 

(i) suitability of the food items you have 
included to the age of the child 

(ii) the timing of the meals 

(iii) nutritional benefits to the child 
(c) State five advantages of breast feeding. 	5 

	

3. 	(a) What are functions of : 	 5+5=10 

(i) Proteins ? 

(ii) Carbohydrates in the diet ? 

(b) Describe. the signs and symptoms of two 
deficiency diseases caused due to lack of 
adequate proteins and carbohydrates in the 
diet. 	 5+5=10 

	

4. 	(a) What are the five nutrients each whose 
requirement increases during : 	21/2+21/2=5 

(i) Pregnancy ? 

(ii) Preschool years ? 

(b) State one mid morning snack each that you 
will provide to the : 	 4+4=8  

(i) Preschools 

(ii) Pregnant lady 

Describe the ingredients of the two snacks 
and the nutrients provided by there 
ingredients. 

(c) What are the points you need to remember 	7 

while planning meals for preschoolers ? 
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5. 	(a) Name and describe the symptoms of one 
nutrition related disorder each that affects : 
(i) the eyes 	 5+5=10  
(ii) growth of brain and body 

(b) How can each of the above two disorders 
be prevented ? 	 2+2=4  

(c) State the six services provided by the ICDS 	6 
programme giving a brief description of 
each. 

	

6. 	(a) What is meant by nutritional status ? 	2 

(b) Explain any two ways of measuring 
nutritional status. 	 4+4=8 

(c) What do the following indicate and what 
advice will you give to the parent in each 
case : 	 5+5=10 

(i) a flat line is obtained when child's 
weight is plotted on growth chart for 
3 months in a row ? 

(ii) a line with downward slope is 
obtained when child's weight is 
plotted on growth chart for 3 months 
in a row ? 

	

7. 	(a) State two disorders of each of the following : 
(i) digestive system 
	

1/2x8=4 

(ii) respiratory system 
(iii) mouth and throat 
(iv) ears 

(b) State the symptoms of any four disorders. 
3x4=12 

(c) Explain the steps in management of mild 
diarrhoea in case of 5 year old child. 	4 
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1. 	F-14--1R1nd 4 	rira 	( 	7rPITI 
4x5=20 

250 7.1) -4) cluiq 

(a) ifs 4cbc-Li-if 

(b)  

(c) Liam drci•  t emit A -51---A-w 	tAi J-cf 

(d) Li tich drcl • 	 WIT 

(e) Liltich 1,14 44 4 W-d 31M- T 

(f) Micf-TO 31qrzT ch-f .zfR:tzt 	tWiTfF 

(g) 	4 *117 4-11-M 	-a -7.r 

	

2. 	(a) 	I) 	t ci 	t.  Fri 	r, rqi 	31-m-T 4 	8 

	

TA--FR A R-1 	TriTzr 
TIT wrcrrir 7F6 	Gitl 	I 
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(b) 	r-p-tro rod 1T 'arr9-krk-f 	aTcrt 31-r-4-7 	7 
3T 	: 

(i) a,1 	 a-Trcrk gic 

d'Ach-lc11 

(ii) 31-E4-R er r 

(iii) ch.) 31-r 	q0 41aullcHai 

(c) 	 I 	 5 

	

3. 	(a) 	3-T7R 1 1\-1 4--Irrir(.1cf 	*14 ac1 	: 	5+5=10 

(i)  

(ii)  

(b) 3-7R11TlYz-17 31')"T / zfTTT4l 	H1117 iq 

a-)Rur 	 ,Tuff 

--Tr--A7i 	 5+5=10 

	

4. 	(a) 	r-1+- 	lrcirtcd c 	3-1-4RT 	LIN LIILIchirci c4 

31raTzr-*-dr 	\rticil t: 	 21/2+21/2=5 

(i) Trita-Tqr 

(ii) TT-TEL4 	 

(b) 3117 ••• TTurr-o-T 

3 	 t 	(.1-9-r-6-R -  
olc1 	: 
	 4+4=8 

	

3-1T-7M-4 a;14-Fd- 	 al' frr-o-4 

Tr ciuk 

(c) 4TI• 3177 zi)-49T 	rchrf 	7 

moral a~1 aiq ,u.111 ,-1(.41t? 

	

5. 	(a) 	r14-ircirtacr TAT T'f T19.1frd-ff cf-A 	qui 
4afqr fa4,11-cr TT •TI:1  ad1~~ 3 

: 	 5+5=10 

(i)  

(ii) -1R-r- rtF3117 -7r4-T fa--*-Fr 
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(b) 31:144U .41147it 	l fir 	i i1i4 	t1ci)211-14 4)(4 

~iTcl t? 	 2+2=4 

(c) 4114510-1 g.R1   4101 	6 

o14-41101c-IIR -5r-AT .wrTifkr7 	q11',31 v, 

6. 	(a) 	Li tiulici-Ich 	z11 affiNgf t? 	 2 

(b) 	-RR 	 'ffTV T cl u 

f-A7 I 	 4+4=8 

(c) 4z11 	t 	31-A-T TrP:r 14 
3-714 4-11d1-F4R-11 	qz11 TEdlt 	: 	5+5=10 

(i) 491-1 	rI IR1Ik c11-11:1t4 cich 

1T 3-1-r*-ff cl.A TR 4-N1- -(01 .11-11 

(ii) 4-ca 	4:11 	041111t c11-11:1t4 dcb 7rZ 
-41 	 tR 	crA 	1(gi 	 
Ail I 

7. (a) F-11--Irririgd -5kW 	 : 1/2)(8=4 
(i)  

(ii) Kati 1-cf 

(iii) 	ath 41(11 

(iv)  

(b) d)Lit qr-cif-d icRifli'dqi 	# 

couR I 	 3x4=12 

(c) -crN atilq 	31-4 34f9TIT{ 	'1"f-i:24-fi 4 	4 

31T4 f 	I 
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